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1. Which one of the following is the Code :
correct sequence of steps followed

in accounting of transactions? @ A B C D
fa} Classification-Source 3 4 2 1

document-Summarization- »
Recording () A~ ‘B C D

(b} Source document-Recording-

Classification-Summarization fc) A B C D

{c} Recording-Summarization- 1 4 2 3
Classification—-Source document

| fd) A B C D

(d) Source document-Classifica- 1 2 4 3

tion-Recording-Summarization

3. If Opening stock is Rs 10,000, Net

2. Maich List-I with List-1I and select purchases—Rs 70,000, Wages—
the correct answer using the code Rs 2,500, Carriage inward—Rs 500
given below the Lists : and Closing stock—Rs 15,000,

) which one of the following is the
List-I List-1 Merchandizing cost?

A. Fixed assets are 1. Going-concern
valued at cost concept
less depreciation

fa) Rs 65,000

{b) Rs 83,000
B. Appending notes 2. Materiality

regarding convention {c) Rs 68,000
contingent ‘
liabllltle§ in (d) Rs 73,000
accounting
statements
C. Insignificant 3. Business entity 4. Purchases equal to
items or events concept
having an (a) Cost of goods sold + Closing
insignificant inventory — Opening inventory
economic effect _
need not be fb} Cost of goods sold - Closing
disclosed inventory + Opening inventory

D. Cash withdrawn 4. Full-disclosure
by the owner to convention
meet personal
expenses

{¢} Opening inventory + Closing
inventory — Cost of goods sold

(d) None of the above
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1. agl & S R, Pefafaa § @
-1 Tk, =000 F qd ITHEA 27

(a) FiFEU-HG WE-g8I-3ieEs
(b) WA TE—iAEE—aiFo—gdger
(c) aﬂé@q—é«%ﬁw—wﬁ'ﬁw—aﬁa PG|

(d) i seg-arifFm—sieer—dagu

2. G-l & gl & gfem it ok

giEt % 9 R o g F o wowd
mgﬁq:
-1 gEt-11
A. for shemfwt &, sra 1 gam
| YoUBTE W g, yfesm
et fan ST & HEHT

B. dgmwel faaon § smefers 2. mewqla
el & wrey § wiifie itarét

faoaford
C. Ag@gH Wel 3yat gl 3. =rEEd
&, 3 el wwra & B
TEEE &, Yo = Fl Thea
AT A B '
D. @l gr =fea = it 4. qof
98 & T smmafa g LCTiETe
LIt ra
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ge:

fa) A B C D
3 4 2 1

(b} A B C D
3 2 4 1

fc} A B C D
1 4 2 3

(d A B C D
1 2 4 3

3. IR WRfETS wiF 10,000 %o, [+
70,000 %o, W 2,500 %o, IEH
E 500 T mar afm  wiw
. 15,000 %0 %, @ Foafafae § @ #-@
T FA-fawa A (TeReRRm wie) #7

{a) 65,000 %o
(b} 83,000 %o
{c) 68,000 %o

(d) 73,000 %o

(c) VR At + arf<m e -
fosrg Tma

(d) o | ¥+ 7
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8. If Assets of a business entity are

Rs 43,000, Liabilities—Rs 3,000,
Capital—Rs 40,000 on 1.3.2008
and on that date it sold goods
costing Rs 4,000 at Rs 4,500 for
cash, which one of the following is
the new accounting equation?

(a) Assets Rs 45,500 = Liabilities
Rs 3,000 + Capital Rs 42,500

{b) Assets Rs 43,500 = Liabilities
Rs 3,000 + Capital Rs 40,500

(¢) Assets Rs 41,000 = Liabilities
Nil + Capital Rs 41,000

(d) Assets Rs 40,500 = Liabilities
Rs 3,000 + Capital Rs 37,500

6. Given below are the income and

expenses of an entity for the
year 2007 :

Fee received in cash—Rs 24,000,
Accrued fees—Rs 6,000, Rent for
chamber paid—Rs 6,000, Outstand-
ing rent—Rs 2,000, Salary to staff
paid—Rs 6,000, Miscellaneous
expenses paid—Rs 200 and Salary
paid in advance to the staff—
Rs 1,000

Which one of the following is the
amount of income under accrual
basis?

fa) Rs 11,800
{b) Rs 30,000

(c) Rs 13,200

{d) Rs 16,800

7. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-1
(Method of Valuation)

A. Valued at cost

B. Valued at cost less
amortization till
date

C. Valued at lower of
cost and market
price

D. Vaiued at co'st less

depreciation on the
basis of actual
depletion of
reserves

Code :

@ A B C

2 1 4
) A B C
2 4 1

fc) A B C

(d} A B C

w g

w

o]

N g

List-I
(Asset)

Trademark

Goodwill

Mines

s-‘

Marketable
securities




5. Ak wF =EER® W H giemtEt
43,000 ¥ g, @M 3,000 %o, ¢t
1-3-2008 &l 40,000 %o qwi ¥q fafy
W A 4,000 To H AME H T
4,500 %o &g % Tm@ =, N
Frafafes § @ sv-w = T SEEm
Trffetur 27

(@) ;r&amﬁaf 45,500 %o = Ul
3,000 %o + St 42,500 %o

(b) ufmmafai 43,500 %o = gand
3,000 %o + st 40,500 %o

(c) PRt 41,000 o = Jgand wis
T + it 41,000 %o '

(@) dfmmaR@i 40,500 Fo = wand
3,000 %o + §Sft 37,500 %o

6. T8 2007 ¥ ¢ w&F w1 6 3 awr =4t
ﬁ:ﬁ%ﬁmmﬂ%

e 6,000 %o, H& F fFIY &1 P
6,000 %o, SHMET FUAT 2,000 %o, Wi
W AT W YA 6,000 Fo, iy =
F YA 200 To TU WH Hl S04 F
M PIAA 1,000 %o |

WIgWaA SUR ¥ arnd, fefafaa § @
HH-H & 2 FY ufdr 27

{a) 11,800 %o
b) 30,000 Fo
{€) 13,200 %o

(d) 16,800 %o
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U%s § yW YF 24,000 Fo, VT .

7.{%&4%@-}1%@%%@1

e % e Ry g W @ W o
Iﬁﬂﬂﬁq:
-1 gft-11
(vrars $ vgh) (wfreafyr)
. 0T | iR 1. =qUR-fag
(Z=ah)
. ITRH IRINEE W AR 2. gAM
TR R e
. WA A IR FHE § 3. @i
F R AT R
. awitdra frftet & 4. fht-amg
ARl ITREY % YN hensgferat
WY W HRER
AMA W AR
R

fa) A B C

w g

® A B C D
4 3

(¢ A B

+ 0
g

d A B C D

. [P.T.O.




8. Match List-1 with List-1I and select
the correct answer using the code
given below the Lists :

List-I

A, Capital
expenditure

B. Revenue
expenditure

C. Deferred
revenue
expenditure

D. Capital receipt

Code :

(fa) A B
1 2

fb) A B
1 3

) A B
4 3

[d A B
4 2
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List-II

Money raised
by issue of
shares

Preliminary
expenses

Depreciation

Freight on
machinery
purchased

—

9. Match List-]1 with List-II and select
the correct answer using the code
given below the Lists :

List-I List-iI
{(Content) {Accounting
Standard)
A. Accounting for 1. AS-3
Amalgamations

B. Cash-flow statements 2. AS-14
C. Net profit or loss for 3. AS-10

the period, prior
period items and
changes in accounting
policies

D. Accounting for Fixed 4. AS-5

Assets

Code :

@ A B C

b
—
&
W

b} A B C D
2 1 3
fe) A B C D
3 i 4 2
fd} A B C D
3 4 1 2

10. How is renewal fee for patent treated
as?

{a) Capital expenditure
{b) Deferred revenue expenditure
{c) Revenue expenditure

(d) Development expenditure




8. i1 W g1 8 gafam fifeg e

gt % IR Re e 2 & @ = ad
Wﬁﬁ'&:
-1 -1
A. shem 1. 3t & fole g
I TS iR
B. ¥9H =4 2. R =@
C. yrefiad daed 3. Teae™
=9
D. dsft wfy 4. i & @t |
EIE
T
{a) A B C D
1 2 3 4
') A B C D
1 3 2 4
{cf A B C
4 3 2 1
d A B C D
4 2 3 1

9. WH-1 = gA-1I ¥ gafem Hifse s

gl & R g g @ W w ad
Wﬁﬁ'&:
-1 qefi-11
(Frrmang) (@
HHE)

A, BHMTH! H AETHT i. AS-3
B. %41 yag REw 2. AS-14
C. 3@fy, @@ @i waian 3. AS-10

AR it d afwd
% feme faae sy areEn
H1ES
D. fer ufrafiEl @ 4. AS-5
TG
e :
fa} A C D
2 1 4 3
) A B C D
2 4 1 3
/) A B C D
3 1 4 2

(d)

w >
s W
-
0N g

10. ¥ % Tl 1 yoh F WA A 27

(a) ft =4
(b) Ui GaTER TE

(¢} TR =Y

(d) Ta=wm =g




11. Given, Purchases—Rs 1,00,000,

Sales— Rs 1,80,000, Closing stock—
Rs 14,000 and Manufacturing
expenses—Rs 10,000. Which one of
the following is the value of
Opening stock if the rate of gross
profit is 33%% on cost?

{a) Rs 28,000
(b} Rs 39,000
{c¢) Rs 37,000
(d) Rs 42,000

12. X started a garment business

on 1.1.2007 with a capital of
Rs 1,00,000. Her capital on
31.12.2007 was Rs 1,80,000.
During the period she introduced
further capital of Rs 30,000 and
withdrew from the business for
domestic purpose Rs 20,000. Which
one of the following is the value of
her profit for the year ended
31.12.2007?

fa) Rs 70,000
(b} Rs 1,70,000
{fc) Rs 1,90,000
(d) Rs 77,000

13. If a trader’s sales amount to

Rs 18,000 and his gross profit and
net profit are 60% and 40% of sales
respectively, which one of the
following are his expenses if there is
no indirect income?

fa) Rs 7,200
() Rs 2,500
fc) Rs 3,600
(d} Rs 6,480

P-DTQ-J-DPN/5A

14, S Ltd. has in stock goods worth

Rs 10,000 supplied by its parent
company H Ltd. on which the latter
made a profit of 20% on cost. The
controlling interest of H Ltd. in
S Ltd. is 80%. At which one of the
following amounts, the stock
should be shown in the
Consolidated Balance Sheet?

fa) Rs 10,000
fb} Rs 8,000
{¢; Rs 8,400
(d) Rs 7,500

15. Given, Balance of creditors of a firm

_as on January 1, 2007—Rs 50,000,
Cash paid to creditors—Rs 44,000,
Bills payable accepted during the
year—Rs 10,000, Purchase returns
Rs 1,000 and Creditors as on
December 31, 2007-—Rs 15,000,
Which one of the following is the
credit purchase of the firm for the
same period?

faj Rs 15,000
(b} Rs 25,000
{c) Rs 20,000
{d) Rs 30,000

16. Which one of the following

transactions does not affect the
Balance Sheet totals?

(a) Purchase of Rs 5,000 supplies
on credit

(b) Payment of Rs 30,000 note
payable

{c) Collection of Rs 40,000 from
debtors

(d) Withdrawal of Rs 8,000 by
awner




11. R t—

4 1,00,000 %o, faFa 1,80,000 %o,
AR ®i% 14,000 To a Fmu-z=m
10,000 %o |

AR wwa Am f W AR W 331% 3,
A fefafge & 4 0w & W
wie #1979 87

fa) 28,000%c

(b} 39,000 %o

(c) 37,000 %o

(d) 42,000 %o

12. X ¥ 1,00,000 % @ TR F Wy
1-1-2007 & GlgW WX IE
fRm ot & 31-12-2007 A
1,80,000 %o oft} 3@ srafy & dwm Iad
30,000 ¥o & arfafs st omé qen
20,000 %o WE Y4ISH & T =R 4@
el fl 31-12-2007 & AW T
o % fou fefafas 8 @ -1 0%
T A 87
{a) 70,000 %o
(b) 1,70,000 %o
(e} 1,90,000 %o
(d} 77,000 %o

13. 7R} & =arh i feht ufdr 18,000 %o
qYT IGH bl TH AW [E @ faghi
B FHIL 60% MR 40% ®, @ AR *d
ayery M AE g, o Rt § @
HH-T Teh IUHT =Y 87
(a) 7,200 %o
(b) 2,500 %o
{¢) 3,600 %o
{d) 6,480 %o
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14, S fafie ¥ 9™ 10,000 o &= & WS

wie 4 ¢ < o q@ w H Al 3
TP W 20% @9 & | gfd RN off H
fafiRe = s fafiees & s fRa 80%
%1 vl o3 § frafafaa & 2 fra
F U R =i H fearn s =nfee?

(a) 10,000 %o
(b) 8,000 %o
{c} 8,400 %o

(d) 7,500 %o

15. Rama—

1 F9adl, 2007 ® TF BH & SR Ht
W 50,000 To, TSR & THE YEAW
44,000 %o, 39 o of & <m EiwR
fFT 7T 10,000 To, 7 IME 1,000 %o
T 31 few=r, 2007 ® TH&R
15,000 %o |

frafofiae 3 | SF-ar 3@ =iy F R
o 1 IR F9 77

fa} 15,000 %o
(b) 25,000 %o
{c) 20,000 %o
{d) 30,000 %°

16. frfafan smaet 4 @ wR-w

IEH-9F & M 1 wNriEm T Far?
{a) 5,000 %o FH FT IUR W qfd
(b) 30,000 Eo I T A2
fcj TR B 40,000 %o HY FHA
{d) T g0 8,000 Fo T EW

(P.T.O.




17. You have the information that X Ltd.

19. Consider the following :

has declared 40% dividend. Which
one of the following does it actually
mean?

fa) X Ltd. has declared 40% of net
profit as dividend

(b} X Ltd. has declared 40% of
profits after tax as dividend

{c) X Ltd. will give dividend @ 40%
on issued capital

1. Payments to preference share-
holders who paid calls in
advance '

2. Preference dividend
3. Payment to debenture holders

4. Preferential creditors

Which one of the following is the
correct order of preferential
payments of the above to be
followed by the official liquidator
in the event of liquidation of the
company as per the provisions of
the Companies Act, 19567

faj 1-2-3—4
3-4-2-1
(d) X Ltd. will give dividend @ 40% (v}
on paid-up capital {c) 2-1-4-3
(d} 3-2-1-4

18. What does the balance of joint life

policy account in the Balance Sheet
of a partnership firm represent?

fa) Total premium paid to date

(b} Annual installment of premium
payable each year

(¢) The policy’s surrender value

(d) Amount receivable on maturity

P-DTQ-J-DPN/5A
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20. Which one of the following courses

of action is legally available
to a company in the event of
non-compliance of accounting
standards?

(@) The company shall report the
matter to the Institute of
Chartered Accountants of India

fb) The company shall report
the matter to the National
Company Law Tribunal

{¢/ The company shall disciose the
deviation from the accounting
standards, reason for such
deviation and the financial
effect thereof

(d) The company shall ignore it




17. 3T9% U T8 g1 & T X fafee 3 40%
e f agon 6 71 i 4 @
-1 UH qra F ghER Ay 27

(@ X fafiRs 3 3@ oW | 40%

() Xx fofide 3 | ¥ vamg o} @
40% T G e

fc) X fafie frifm il w 40% A =
QA

(d) X fafies goien 6t @ 40% H R
| i i

-

18. TF 9REER %6 % gee-ud § Ogw e
gt @En w1 2N fRaa fefiw sw
77

(a) Taf¥ o g HifiEm 1 praw
(b} I ¥ 97 Tifis fftam-frw
{c) UTeTEt %1 wdw qem

(d) uftaemar @ s i
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19. F=fafea @ faam $ifse .

1. aftorrlt Saeenft & ymam ReER
Hrit 1 Affm sy o R R

2. IemE e

3. TUTAUNET H PEH
4. ftmref Seen

Frafafes 4 & @91 @ *
Ffemrdt yradl 1 98 W wa 2, e
Forl afufEm, 1956 F st F
IFER  FO H AEHE  TREHNE
TR Y T’ IGE w7

fa) 1-2-3-4

(b} 3-4-2-1

o) 2-1-4-3

fd 3-2-1-4

20. TWIHO! HHH] TN A B H B

Tt wOA & gm fefafas 3 @
FA-H T wriwkra fafte: soesy 87

fa) ®A o TRt dEmR T
+ Tg wwen Ford woh

(b) FVat g Tl A =i
F Tg AT U wuf

{¢) FEE AGE® TR @ e, e
ot & wron wwr e fadiw
TVE ! Y Hufl

(d) FPat z@ht e wof

[P.T.O.




21. Which one of the following pairs is 23. Given the following information

correctly matched? relating to bad debts and provision
for doubtful debts of a concern
fa} Share . Revenue during a period :
prermnium reserve

. : Provision for doubtful debts on

(b} Valuation  : - Super-profit 1.1.2007—Rs 6,000, Bad debts
of shares method written off during the current
year 2007—Rs 1,200, Total debtors

(¢} Profit prior to : Capital as on 31.12.2007—Rs 80,000,

incorporation reserve A provision for doubtful debts to be
(d} Valuation of : Intrinsic made @ 5%
: Goodwill value

Which one of the foliowing amounts
is to be transferred to Profit and
Loss Account?

22, Consider the following :

. {a) Rs 5,200 Dr.
1. Fixed Assets

2. Investment (b} Rs 800 Cr.
3. Current Assets () Rs 2,000 Dr.
4. Loans and Advances ,
5. Profit and Loss Account (d) Rs 800 Dr.
6. Miscellaneous Expenditure

. 24. For which one of the following
Which one of the following is the purposes, the utilization of Capital
correct sequence of the above items Redemption Reserve Account is
appearing in the asset side of permitted?
the Balance Sheet of a company
as per Schedule VI, Part—! of the fa) Writing off part of current
Companies Act? year’s losses

{b) Writing off miscellaneous
expenditure like preliminary
expenses

(@) 1-2-3-4-5-6

(b) 2-1-5-3-4-6

{c) Declaring cash dividends
(c/ 2-1-3-5-6-4

{d} lIssuing of fully paid bonus
(dj 1-2-3-4-6-5 shares
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21. Ffafaa § @ F-w o 3 gt @2

(@) TR AfEm  : EEE i
faftr

(b} T T : 3tfbremT Uy
L RICT

fc) T g @ : dsft amfaa ffy

(d) maﬂ : U
L (@IET

22, frefafaa w faem Ak
1. o uamfwf

fafam

4re] it

o o 3rfiy

Al G

fafaw =

A T i

fefefes & @ =m-w ww wl
sfufram 1 Sggeh VI, ¥ 1 % IigEn
Ff F goT- F ofmmfy gy #
femrn S aren I 7S W wel ST
87

(@) 1-2-3-4-5-6

(b) 2-1-5-3-4-6

(c) 2-1-3-5-6-4

(d) 1-2-3-4-6-5

P-DTQ-J-DPN/SA
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23. & He B T o & A areer

T Afw wOt & yEuE ® wfid
Wiﬁ?ﬁﬂg%:

1.1-2007 +i "ig Fei & foe yaam
6,000 %o, =1 ¥4 2007 # 37sey Huil
® 9 W@ T S TN 1,200 o,
31-12-2007 & F&A =R 80,000 Fo,

iy T & fou  wEyE 5% @ =
¥ 4T S R

frefafga d @ A6 s of¥ @ an
w1 1@ & Il < smef?

faj 5,200 %o W
(b} 800 To Al
c) 2,000 e T

(d} 800 %o I

24. Refofe @ @ e = wem & fog G

gy amfym Pl S| F s
argafa ww 27

(a) el T Hi gl & um w9 '@w
T e

(b) Tafaw =3 =t 92 @@ § Taar S_
it =59

(c) VEs wmw F Do

(d) qUiEw SE R0 & P

[P.T. O.




25. Given the following information of

subscription for a period :

Subscription received during the
year 2007—Rs 12,000

Subscription received in advance
as on 1.1.2007—Rs 1,500

Subscription outstanding as
on 1.1.2007—Rs 500

Subscription outstanding as
on 31.12.2007—Rs 700

Subscription received in advance
as on 31,12.2007—Rs 2,500

Which one of the following is the
amount of subscription to be
credited to Income and Expenditure
Account?

{a) Rs 14,200
{b) Rs 10,700
{c/ Rs 11,200

(d) Rs 9,100

26. X, Yand Zare partners in the ratio of

3:2:1. K, a new partner, is
admitted for one-fourth share.
Which of the following statements
in this regard are correct?

1. K and Y will get equal amount
of profit.

2. Z will have to bear the lowest
amount of loss.

3. The ratio among X, Y and 2
will not change.

P-DTQ-J-DPN/5A
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Select the correct answer using the
code given below :

Code :

{fa) 1, 2 and 3
(b) 1 and 2 only
{c) 1 and 3 only

(d) 2 and 3 only

27. A and B are partners sharing profits

in the ratio of 3 : 2. C is admitted
with one-third share in the profits.
Which one of the following is the
new profit-sharing ratio of the
partners?

fa) 3:2:3
(b) 6:4:3
fc) 6:4:5

f{dj 3:2:5

28. A and B are partners sharing profits

in the ratio of 5: 3. C is admitted.
The new profit-sharing ratio among
A, Band Cis agreed at 3:2: 1.
There was a General Reserve of
Rs 18,000 before C's admission. -
The General Reserve will be
distributed

(a) among A, B and C in the ratio
of 3:2:1

(b] among A, B and C equally

{c] between A and B in the ratio
of 5:3

(d) as per sacrificing ratio




25. T 3G & forg == it gEa AR @ 0
g
2007 &Y % S TH §IT
I=—12,000 %o
1-1-2007 1 A W
T=1--1,500 %o

1-1-2007 = 9941 9=<1—S500 o

31-12-2007 ! THEE T—700 Fo

31-12-2007 %} 31fi| 3w
I2—2,500 To

AW A =g oar § fefafaa 4w
-t ' 9= it ufd 5 i st

{a) 14,200 o
(b} 10,700 %o

{c) 11,200 %o

(d} 9,100 %o

26, X, YT Z23:2:1 % 3O & QR

' %! & T TR K F TH-uTE AW
v wfe frm mm o owEew A
frafeafigs Fuat 4 @ =59-9 g &7

1. Kau Yy < gae il aw st

2.  Z @i & Jaa Ui F8w =

3. X, YT 2% W U & aftgda
& dm
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fa) 1, 233
(b) Fa&@ 1 32
c) Fae 13 3
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fe) 3:2:3

(b} 6:4:3
fc) 6:4:5

fd 3:2:5

28. A @M B 5:3 % TIY UgWEH T 7§
WPER £ C ® wike fe T A, B
N C 3:2:1 F A T GIWEE
A W WEAd §U C & ¥ @ @
g ARt il 318,000 B )
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o wmem?

(@) A, BETIC®#3:2:1 % g &
(b} A, BA™l C 1 IU

() ATN BH5:3% AT #

(d) < AT & AHAR




29. Consider the following items of Select the correct answer using the

liability side of Balance Sheet of a code given below :
company under the head Reserve
and Surplus : : Code !
1. Securities Premium Account {a/ 1 only
2. Sinking Fund - (b} 1 and 2 only
3. Capital Reserve (c) 2 and 3 only
4. Capital Redemption Reserve (d} 1,2 and 3
Which one of the following is the 32. The following Journal Entry appears
correct sequence of appearance of in the books of F Ltd. :
the above items in the Balance Dr. Cr.
Sheet? Rs Rs
Bank Account 96,000
Loss on Issue of

(@) 1-3-2-4 _ Debenture Account 10,000

To 8% Debenture Account 1,00,000
(bj 3-4-2-1 ” Premium on Redemption

of Debenture Aceount 6,000
1-3—4-2
& At which one of the following
(d) 3-4-1-2 discounted ratfes have the
debentures been issued?
. {a) 10%
30. Which one of the following accounts

is neutralized in the event of issue (b) 4%
of fully paid bonus shares by a fc) 6%
company?

{d) 10-42%
{a} Capital Reserve Account
33. A company offers to its shareholders

(b) Bonus to Shareholders the right to buy one share of Rs 100

Account at Rs 150 for every three shares of
{c) Share Capital Account Rs 100 each held. The market value
of each share is Rs 200. Which one
(d) General Reserve Account of the following is the value of the
right for one share?
31. Which of the following is/are actually fa) Rs 12-50
forfeited in case of share forfeiture?
b) Rs 10-00
1. Money already paid (b} Rs
2. Share certificate (c} Rs 12:00
3. Share capital (d) Rs 11-50
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29. (& FFAI & FEA-9R & alided ue
e ffer qn siftew ol & swala
freafafiea vt w fon A

1. wioqR shfiem o
2. f&v fifa

3. st amfara fafty

4. qsft o smfam Afy

gea-13 # oIEw we oW faed oW
et 4 4 w9-w v o sigwn 77

(@) 1-3-2-4
(b) 3-4-2-1
(c) 1-3-4-2

{d) 3-4-1-2

30. TF FA T PiRe A" I0 F Fofay
# o # frafafaa % @ #9-01 @ S
Fregaret v 87

fa) it smfdm Ay <

(b) TEIRE! N G AW
(c) ISt o

(d) s amfira faf qen

31. s f =it f e A, Pr=fafea & 2
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ma 87

1. W& ¥ & fFn @ gae
2. SRR yWI-9F ‘
3. W GEH
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T Ry g2 w1 wmm W ol s
ﬂﬁQ:

G

(@) a1

(b) Fa& 1 3 2

(c) Fae 2 3 3

(@ 1,23R3

32. F fafee i gt # foafufles sHe i
uﬁ&mgﬁ:

T (¥o) ST (%o)
96,000
10,000
1,00,000

% @
oy fiws a1ty dan
8% UM T
FUT a3 fifiey
oE 6,000

fFrafafiaa 3 @ fFa © wg1 o W o
1 frtaa feman man?

(@) 10%

(b} 4%

fc) 6%

(d) 10-42%

33. & O 7 oy seaflEt @t 100 %o
I TAE A9 A ¥ fay, wEw
100 %o T WM 150 To F w4 3 F
SR w1 wwE 1 v@E R oW
AN YT 200 ¥o 7| Feafafas 4 @
HIA-H T T AR e 37

(a) 12-50 %o
(b) 10-00 %o
{c/ 12-00 %o
(d) 11-50 To
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34. X Ltd. issued 10000, 12% 37. Which one of the following situations

debentures of Rs 100 each at Rs 94 is correct when creditors velocity or
on 1.1.2003 under the term creditors turnover is higher as
that %th of the debentures are compared to debtors velocity?
redeemable annually by drawings. fa) Improve liquidity

Which one of the following is the

amount of discount to be written off (b) Reduce liquidity

at the end of the year 2003? fc} Higher velocity of gross assets
. 1

(@) Rs 20,000 block

(b) Rs 40,000 {d) No impact on liquidity

(c) Rs 66,000 38. Which of the following transactions

{d) Cannot be computed will improve acid-test ratio?
1. Bills payable dishonoured
35. X Ltd. forfeited 20 shares of Rs 10 '
each on which Rs 5 per share were :
paid up. The company issued these 3. Issue of convertible debentures
shares @ Rs 8 as fully paid up.
Which one of the following is the
amount transferred to Capital

2. Cash collected from customers

Select the correct answer using the
code given below :

Reserve Account? Code
(a) Rs 40 @ 1,2 and 3
b} Rs 60
(b) Rs (b} 2 only
fc} Rs 20
f¢) 3 only
fdj Rs 100

(d) 1 and 3 only
36. XYZ Ltd. forfeited 5 shares of Rs 10

each issued at 10% premium to 39. Given, Sundry debtors—Rs 15,000,
Mr. Z (Rs 9 called up) on which he Bills  receivables—Rs 12,500,
had paid application and allotment Cash at bank—Rs 17,500, Stock—
money ({including premium) of Rs 2 Rs 15,000, Profit—Rs 20,000,
and Rs 3 per share respectively. Creditors—Rs 25,000, Bills
Which one of the following is the payables—Rs 15,090 and Sales—
amount transferred to Share Rs 1,00,000 Which one of the
Forfeiture Account? following is the acid-test ratio?

fa) Rs 10 fa} 1:5:1

b} Rs 20 (b) 1-125: 1

fc) Rs 45 fcj 1:1-5

{d} Rs 50 (d) 1:1-125
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34. x fafie 3 1-1-2003 = 100 %o T
10000, 12% RUMH 94 Fo Ydeh T IH
Wi & wr frife ey f L o ol
@ U whea & Frafafae @ @
- s Ul 9§ 2003 F o d =
¥ ¥ A 72 @R Sqw?

(@) 20,000 %Te
{b) 40,000 %o
{c) 66,000 %o
(d) wiorftra =€ fen s T

35. X foifiRe 3 y@% 10 %o aw@t 20 S #
s foman, R 9 5 %o Wy ww =
oiar e man o wref el W
8 To il W W Piaw w1 # fiftm frar
Fefafaa & @ =a-ht o ofn $h
smfira ffY o & warafa # wofi?

{a) 40 %o
(b) 60 %o
{c) 20 %o
(dj 100 %o

36. Xyz fafirzg 3 e z 9 wva@% 10 %0 T
10% ¥iftmm (9 %o mift ufd) w frifta
5 390 @t fom 9t 39 amden oft aEan
ufh (shiftrm afa) @ 2 $o @ 3 %o
R R W e B a1, sea e
frfrftgn § @ =-4 © oft D =i
wEl ¥ st geft?
{a) 10 %o
(b} 20 %o
(c)] 45 %o

(d) 50 %o
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38. frfaRes & } #R-w/? =w=Er, -
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2. TEE ¥ UFg 6

3.  ufEdHE st = Rl
a2 ™ g2 W @ oW owd W
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T

fa) 1,233

(b) Fad 2

(c) FEa 3

(d) Faa 13 3

39. femri—

fafs TR 15,000 %o, W& fawm
12,500 %o, s ¥ Uk 17,500 3o,
w® 15,000 %o, WM. 20,000 %o,
ER 25,000 %o, 24 A& 15,000 %o
w661 1,00,000 %o

fFrafifes 4 4 Fh-m & Ta-Rulo
I B7

fa} 1-5:1

(b) 1-125:1

fc¢¢ 1:15

(d} 1:1-125
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40. Given helow are some of the items

of Profit and Loss Account of
X Company Ltd :

Sales—Rs 1,60,000, Closing
stock—Rs 38,000, Non-operating

43. If due to some circumstances, no

appointment of a new auditor or
reappointment of the old auditor
has been made in the annual
general meeting of a company, then
the

expenses—Rs 800, Non-operating
income—Rs 4,800 and Net
profit—Rs 28,000

{a) old auditor will continue to
work

(b) Board of Directors will appoint

Which one of the following is the the new auditor

. i
operating profit ratio: {c) Managing Director can appbint

the auditor

fa) 18% -
{d} auditor may be appointed by
(b} 20% the Central Government
o 44. Match List-1 with List-II and select
() 15% the correct answer using the code
(d) 57% given below the Lists :
List=I List-IT
41. As per the ICAl guidelines, for (Type of Fra'ud) ) (E.v-camp lej
minimum how many years an A, Suppression 1. Making payments

of receipts against fictitious

voucher
Inflating the
value of closing
stock

Not accounting

auditor should maintain records
relating to audit and other works

done? B. Inflating 2.

payments
¢} One year

(b} Five years C. Suppression 3.

of profits for receipts
{c) Seven years D. Inflating 4. Charging items of
profits capital nature to
{d) Ten years revenue
Code :
42. An increase in Share Premium @ A B C D
Account is 2 4 1 3
(a) an application of fund b A B C D
3 4 1 2
(b} a source of fund c A B c D
{c) no flow of fund 3 1 4 2
(d A B C D
(d) None of the above 2 1 4 3

P-DTQ-~J-DPN/SA 20




. 40, X =t forfiee & oy awn wify S 6
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TG S 4,800 To a1 Y& oI
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{a}] 18%
b) 20%
) 15%

(d} 57%

41. Ical & wriaff Rel % agEr,
@ ) SEeia ¥ safie am
3= FE # afeE wH-d-Fw e
Y T T@ wTR?

(@) ko
(b) wiE Td
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(d) &gq=d

42, e iftem dan § gfg = 8
(o) FfuS o sgwm
(b) Tt = w Ha
fc) By = vare T
(d) I H A Hig 7
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@ A B C D
2 4 1 3
m A B C D
3 4 1 2
) A° B C D
3 1 4 2
) A B C D
2 1 4 3
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45. By which of the following methods is
secret reserve created?

. 1. Charging capital expenditure
to revenue account

2. Showing contingent liability as
actual liability

3. Providing less depreciation on
fixed assets

4. Omitting some liabilities

Select the correct answer using the
code given below :

Code :
faj 1 and 2 only
(b) 2 and 3 only

¢/ 3 and 4 only

(d 1,2, 3 and 4

46. What is the correct sequence of the

following actions taken by an
auditor?

1. Physical verification of assets
2. Routine checking
3. Preparing the audit programme

4. Vouching

Select the correct answer using the
code given below :

Code :

fa) 1-4-2-3
(b} 2-1-4-3
{c) 3-2-4-1
(dj 4-3-1-2

P-DTQ-J-DPN/5A
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47. Balance Sheet audit is an audit in

which

{a} Balance Sheets of a number of
years are audited

(b) audit of financial statements is
done

{c) audit is done at the end of the
financial year

(d) wverification of assets and
liabilities is done

48. Teeming and lading’ refers to which

one of the following?

fa) Misappropriation of cash
receipts from debtors

(b} Misappropriation of cash by
showing fictitious purchases

{c) Issue of cheque when there is
insufficient bank balance

{d)} Cheques received from debtors
but not deposited within
reasonable time

49, The term ’kiting’ refers to which one

of the folldwing?
{a) Non-recording of cash receipts
{b) Manipulation in bank accounts

¢} Showing higher depreciation in
fixed assets

(d} Inflating expenditure




45. R & = whwi d ¥ B T
arféra cran givm e s 87

1. Yt = @ uewen o @ wia
T

2. vl o"ar & a<fds Jm &
®Y ¥ Tuife
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4. FT Rl B S
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(a) Fad 132

(b) *ad 2 3k 3

¢ #Faa 34

(d 1,2 334

46. SETEF % 50 B W fmfafaa sl
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2. et
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w2
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{d) 4-3-1-2
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B0. Consider the following statements :

1. The verification of assets and
liabilities is primarily the
responsibility of the
managemernt.

Auditor has to satisfy that
valuation of assets has been
correctly made as  per
accounting standards and
generally accepted principles.

Which of the statements given
above is/are correct?

fa} 1 only

(b} 2 only

{c) Both 1 and 2

{d} Neither 1 nor 2

51, Consider the following statements :

1. Inventory of by-product should
be valued at lower of cost and
net realizable value.

Inventory of reusable waste
should be valued at raw
material cost ignoring the
reprocessing cost where
facilities for reprocessing exist.

Which of the statements given
above is/are correct?

{a) 1 only
(b) 2 only
{c) Both 1 and 2

{d] Neither 1 nor 2

P-DTQ-J-DPN/SA

52. Which of the following is/are the
advantage(s} of direct confirmation
procedure in auditing?

1. Accurate physical verification
of assets

Ascertaining accurate balances
of debtors, loans and advances

Controlling of unnecessary
expenditures

Select the correct answer using the
code given below :

Code :

{a) 1 only
{b} 2 only
{c) 1 and 2 only

{d) 1,2 and 3

53. Which one of the following is an
example of direct ¢onfirmation?

{a) Management gives certificate of
cash in hand

~

{b) Reconciliation of bank balance

{c) Debtors certifying outstanding
balance

Counting of inventories by the
auditor
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54. Which one of the following does not Which one of the following is the

fall under audit planning (AAS-8)? correct sequence of steps involved
in the preparation of an audit
programme?

fa) Developing the audit

programme fa} 1-2-3—4

(b) 3-4-2-1

fb) Development of overall plan
(g 4-3-2-1

(¢} Knowledge of the client’s (d} 1-3-2-4

business

56. Match List-I with List-II and select
the correct answer using the code

{d) Performance of the peer firms given below the Lists :

List-T List-II
{Tool) (Nature of Function)

A, Test checking i. Physical

55. Consider the following steps in the verification

preparation of an audit programme :
Cash counting 2. Internal control

1. To ascertain the nature and C. Division of 3. Owverall
scope of audit and its - labour assessment
objectives _ .

D. Trend analysis 4. Selective

2. To obtain different records, verification
viz., articles and memorandum
of associations, agreement Code :
deeds, prospectus and other
documents fa) A B C D

3 2 1 4

3. To evaluate the systems of
keeping accounts and internal (b} A B C D
check and‘ internal control 3 1 2 4
system in operation

(g A B C D

4. To obtain detailed list of books 4 2 1 3
of accounts and list of
personnel  responsible for (d) A B C D
different jobs 4 1 2 3

P-DTQ-J-DPN/SA 26




54, frefafas § @ S9-a1 & Trawian A
(AAS-8) & 3=ia T Tt

o) wEmden wHwn @ fywftg F
(b) Ul AT 1 forbRra
(c) TIEH % HIuH™ F AR

(d) wensft wuf %1 frearea

55. T& AW wEEN a9m § ke

=il W e s .

1. é@ﬂmﬁuﬁw%ﬁaﬁt@%
ey il s

2. fufim ofieEl S@—=ffan @
e o, FR Rew, faew-
- ox 3R = et W R

3. TEER § W S ad i
T fafyr qen S | @ B
fafy =1 e

4. o gwrel o wrqel gt e faftm
w=E % fau et wdwiEt 6

= 9w

P-DTQ-J-DPN/SA

frafafag § ¥ PAe-w TF SREdaT
Fdwn S § e S & o agen
87 :

faj 1-2-3-4

{b) 3-4-2-1
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57. Which one of the following is
maintained by the auditor to record
all matters of material importance
which may require discussion with
the client and are generally used in
the preparation of his audit report?

{a} Auditor’s handbook
(b) Audit file

fc) Auditor’s diary

fd) Audit notebook

58. Consider the following functions of

purchase department :
1. Preparation of purchase order

2. Preparation of approved vendor
list

3. Invitation of
quotation

competitive

4. Preparation of debit notes for
materials returned

Which one of the following is the
correct sequence in which an
auditor verifies the above
functions?

() 1-2-3-4
(b) 2-1-3-4
{c) 2-3-4-1
(@) 2-3-1-4

'5§9. If a situation calls for pooling the

authority of two or more managers,
it is referred to as

fa} Splintered authority
(b) Centralized authority
- fe) Decentralized authority
(d}) Recentralized authority
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60. As

61.

per AAS-15, which of the
following should be considered by
an auditor while determining the
sample size?

1. Sampling risk
2. Market risk

3. Expected error
4

Tolerable error

Select the correct answer using the
code given below :

Code :

{aj 1,2, 3 and 4
(b} 2 and 3 only
(¢ 1,3 and 4 only

{d} 1 and 2 only

In which one of the following

meetings, the auditor of a company
has the right to attend?

fa) Every general meeting of the
shareholders

(b} Only those meetings where
accounts are being discussed

{c) Only annual general meetings
of the company

{d) Only those annual general
meetings in which the Board of
Directors wish to invite him
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62. When an auditor certifies a financial 64. Within which one of the following
statement, which one of the time periods, the first auditor
- following does it imply? of a newly incorporated company

' should be appointed?

(a) The contents of the statement
can be measured and the
auditor has vouched and .
verified the exactness of the .(b) Three weeks
data

fa)j One week

f¢})* One month

(b) The auditor can only have an

{(d) Two months
overall view of the accounts

through normal audit
procedure 65. How would the auditors approve the
treatment of a lump sum amount
{¢/ In his opinion the financial by way of repairs to a machinery
statements exhibit a true and damaged in the course of its
fair view of the affairs of the shifting to a new site?

organization under audit
fa) As revenue expenditure

(d) The opinion of the auditor on
the financial statements may
be unqualified

(b} As capital expenditure

fc) As deferred revenue
expenditure
63. Who among the following can fill a {d) None of the above

casual wvacancy caused in a ’

company by way of resignation of
the auditar? 66. Which one of the following may be

the opinion of an auditor where he
fails to obtain sufficient information
to warrant an expression of
opinion?

fa) Board of Directors

{b) Shareholders through pgeneral
meeting fa) Qualified opinion

() Cential G ¢ {b) Adverse or negative opinion
C, entr OVEermen

(¢} Disclaimer of opinion
{d) Comptroller and Auditor
General {d) Piecemeal opinion
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67. Consider the following statements : 70. With which one of the following is
1. Management audit is force-field analysis associated?
statutorily compulsory.

2. Management auditor can fa} Understanding the pressure for
be appointed either by Board and against change
of Directors or by the
shareholders. e
(b} Incessant coordination
Which of the statements given between production schedule
above is/are correct? . and product  distribution
schedule
{a} 1 only
{b) 2 only (cj Understanding the process

of coordination to ensure
promptness and avoid red-

{d} Neither 1 nor 2 tapism

fc) Both 1 and 2

68. Which one of the following is known (d} None of the above

as a systematic examination of

organizational structure of a

concern, its plans, objectives,

means of operation and the use of 71. Consider the following statements :
physical facilities and  their
constructive and comprehensive
appraisal?

1. Law does not make it
compulsory for a partnership
firm to be registered.

(@) System audit 2. A partner may be admitted to

(b Management audit partnership without -any

capital contribution.
fc) Statutory audit

{d) Procedural audit . Which of the statements given
above is/are correct?

69. Which one of the following functions

is concerned with synchronizing

and unifying the actions of a group

fa} 1 only
of people in an organization?

{a) Directing (b) 2 only
(b} Controlling
{¢) Both 1 and 2

{c¢} Coordinating

(d) Staffing (d) Neither 1 nor 2
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72. Match List-] with List-II and select
the correct answer using the code
given below the Lists :

74. In marine insurance, a partial loss is
technically called as

fa} Warranties
List-{ List-IT

(Document) {Use) (b) Particular average

A. Bill of lading 1. To certify the

{c) Total loss
origin of goods

B. Consular 2. To transport (d) Liabilities

invoice cargo by ship

C. Packing slips 3. To inform 75. An auditor is to be appointed by a

about the special resolution
contents of the
package (a) where 25% or more of the

subscribed capital is held,

Code : singly or jointly, by a Public
Financial Institution
(@) A B C
3 1 2 (b} where 25% or more of the
subscribed capital is held by
(b) 3 ]? g Central or State Government
) A B c (c/ where 25% or more of the
9 3 1 subscribed capital is held hy
other institution established by
{di A B C any Provincial or State Act
3 2 1 in which State holds 51%

subscribed capital
73. Consider the following statements :

) (d) in all of the above situations
Mutual funds help the investor in

securing

76. Which one of the f{ollowing
management thinkers argued in
favour of separating planning from
operation?

1. diversification of risk
2. steady appreciation

Which of the statements given
above is/are correct?

(a) Henri Fayol
{a) 1 only

{(b) 2 only
{¢/ Both 1 and 2

{d) Neither 1 nor 2
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(b) Luther Gulick
{c¢) L. F. Urwick

(d} F. W. Taylor




72. THA A Tho A gfm BB o 74, g A A, w o wR R

g & 4R g e e W @ e wd 9 { F1 HF AT &7
I :
B fa) d=L
o1 TR-11 Ry vl
(sram) (i) | )
A, wEF-fra 1. % e (e) T
SR (d)
B. afiragefig dfivs 2. s g w0l
ilEg w .
C. 4 it ' £ 75.@@%@%@%%
vt i gl
B fa) firEm gait w1 25% a1 A, e
. 7 PG § ¥, dEeHe AR
we e 3 T 2
@@ A B C
3 1 2 (b) =T St & 25% @ AfF Hg
() A B C 7 <9 YR F T ¢
2 1 3
g A B C (c) fEa Osft =1 25% @1 siftes 3=
2 3 1 TEE % T 2 W fE e W ase
{df A B C Hfufrm & s=ria wenfia go fom
3 2 1 HfiEa Gt =1 51% T & 19 R
73. fmfefaa st w fmn fifvw . (d) 3w wft uitfafomt &
fafaise =t g v
L. W:ﬁﬁﬁwﬁﬁf%*@ﬁ 76. Praffan § @ R @ T fer 3
FE F & ST R A ) S v §
2. 8 twmfe ghfee =0 & wema fo 97
Fa &
T 7 A BT/ w2/ (@) ¥ Wl
fa) ¥Fa4 1 (b) TR R
(b) FaE 2
fc) 1R 2t fe) Teto Tho Hf
(d) I 13Mmado (d) Tho T=o W

P-DTQ-J-DPN/5A 35 [P.T.O.




77. The balance brought out between 80. Under which one of the following
economic and social models of conditions does false positive
decision-making as advanced by staffing error occur?

Herbert A. Simon is called (a) Selection as well as

performance scores are high
{a) Rational model (b} Selection scores are low and

performance scores are high

Satisfyi del .
(b} Satisfying mode (¢}, Selection scores are high and

performance scores are low
¢} Irrational model
(e {d) Both selection and per-

formance scores are low
(d}) Satisficing model
81. Match List-I with List-II and select
the correct answer using the code

78. For calculating which one of the given below the Lists :
Z:J;l;)lw;::;f is Dr. Aykroyd’s formula List—I ListII
(Selection Step) {Objective}
(@) Living wage A. Reference 1. Swift evaluation of
checks candidate
B. Preliminary 2. Evaluation of
(b} Fair wage interview candidate
including measur-
{c) Real and nominal wage ing mannerisms,
vocabulary,

temperament, etc.
C. Selection test 3. Check authenticity

provided in

application blanks
D. Comprehensive 4. Measuring IQ of

fdj Need-based minimum wage

79. Who among the following has
observed that bureaucratic staff

) . ) interview the candidate
increases in inverse proportion to
the amount of work done? Code :
fa}) A B C D .
{a) Laurence J. Peter 3 1 4 2 '
b) A B C D
(b) Peter F. Drucker 3 4 1 2
' ) A° B C D
fc) Warren G. Bennis 2 1 4 3
(d) A B C D
(d) Northcote Parkinson 2 4 1 3

P-DTQ-J-DPN/SA 36




77. &R To WA 3N YA ffe & anfifw 80, fffas % & fhw w6 zm § smmd

s wrnfoes wfioedt & & @ T e FHAR-welt (W) 3R aeh
e 1 e 87 STt 87
(@) =1 a9 Feqres @R 39 &
(a) T e b) = @ e § ok fore =
I= 3
(b) wgte vl () TR R 3= § i P wn
= g
sfaasht wfoeu
@ @) = i P R A B 8
(@) F o 81. Tl A TH-N ¥ giRm HRm s
g F R e g w1 W@ w ad
mgﬁq:
78. frafufiga # @ g w Hf T = F .
c e -1 TE-11
j;qm UHAS & qF B W& T s (s <) (atva)
A. T afe 1. Iufieant &
(a) Taie vt AR oA
B. WRfe wigieEr 2. oaen afvs,
(b) 3 I TeeEd!, WE
e = Ay %
(c) AR R THEA TeEh o e 5
eI
(d) ATTEHA-TIRE ~Faw
e C. =9 gl 3. IEEA-wH A & T
wrfirrar it Sife
79. frafofter @ Fred Te Jsm B 2 5 D TR AR 4 IR B iy
Hrertadl smen fer o wE ¥ afw % wfett o1 A1
FERAAT # gl §7 He
A B C D
fa) WA e fiR fa) 3 1 4 9
) A B C D
(b) i Tho T 3 4 1 2
{c) A B C D
fc) =RA o Hfw 2 1 4 3
[d) A B C D
(@) FAdwie qfde 2 4 1 3
P-DTQ-J-DPN/5A 37 [P.T.O.




82. Consider the following stages of
planned change :

1. Moving

2. Refreezing

3. Unfreezing

Which one of the following is the

correct sequence of the above
according to Kurt Lewin?

{a} 1-2-3
(b) 2-3-1
fc} 3-1-2
(d) 1-3-2
83. Match List-1 with List-II and select
the correct answer using the code
given below the Lists :
List-I List-IT
{Contributor) {Leadership Style)
A. Robert Blake 1. Four-system
and Jane model
Mouton
B. W. J. Reddin 2. Normative
model
C. Rensis Likert 3. Managerial grid
D. Vroom and The 3-D theory
Yetton
Code :
fa) A B cC D
3 4 1 2
() A B C D
3 1 4 2
fcj A B C D
2 1 4 3
d} A B C D
2 4 1 3
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84. Which one of the following is not a
dimension of the managerial grid
theory of leadership?

fa) Country club management
{b) Impoverished management

fc) Team management

{d} Entrepreneurship management

85. Which one of the following is the
correct sequence with regard to
communication process?

fa) Sender-Message-Encoding-
Receiver—-Channel-Decoding-
Feedback

(b} Message-Sender-Encoding-
Receiver-Channel-Decoding-
Feedback

{c) Encoding-Message-Sender-
Decoding-Feedback-Receiver-
Channel

{d) Sender-Message~Encoding-
Channel-Receiver-Decoding—
Feedback

86. Gangplank theory of communication,
advanced by Henri Fayol, is an
example of which one of the
following?

{a} Vertical

cation

upward communi-

{b} Vertical downward communi-
cation

{¢} Lateral or horizontal communi-
cation

(d)

Cyclic or circular communi-
cation
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87. Match List-I with List-lI and select Which one of the following is the
the correct answer using the code correct hierarchy of the above
given below the Lists : needs from low order to high order?

List-T List-IT (@) 1-4-3-2-5
{Theory of (Contributor)
Motivation) (b) 4-1-3-2-5
X, Y theory . Frederick Herzberg (g 5-32-4-1

Expectancy . J. Stacey Adams (d) 4-1-2-5-3
theory

. Two-factor . Douglas McGregor 89. Under which of the f{ollowing
theory situations must dissolution of

i ?
Equity theory 4. Victor Vroom partnership take places
1. At the expiry of the term

Code : 2, On the completion of a
particular adventure

(a) . On death, insolvency or
retirement of a partner

Select the correct answer using the
code given below :

Code ;
fa) 1,2 and 3
{b} 3 only
{c/ 2 and 3 only
(d) 1 and 2 only
88, Maslow’s need-hierarchy theory of
motivation has classified the

human .needs into following five
categories :

90. Which one of the following is not
included by Henry Mintzberg in the

. depiction of managerial roles?

1. Safety needs

(a) Interpersonal role
Esteem needs

f ional rol
Social needs (b} Informational role

2
3
4. Physiological needs {c) Decisional role
5

Self-actualization needs (d}) Organizing role
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92. Who

91. Which of the following is/are correct

regarding coordination?

1. Coordination cannot be
voluntarily produced by a
number of cooperating persons.

2. Coardination is, for the most
part, the result of voluntary
attitudes on the part of people
in an organization.

3. Coordination is a far more
inclusive term embracing the
idea of cooperation.

Select the correct answer using the
code given below :

Code :

fa) I and 2 only
fb) 1 and 3 only
fc/ 2 only

(d} 1,2 and 3

among the following has
advanced the Power, Affiliation and
Achievement motivation concept?

{a) J. Stacey Adams
(b} B. F. Skinner
{c) Victor Vroom

(d} David C. McClelland

93. Which one of the following is not a

method of performance appraisal?
{a} Grading method

(b} Behaviourally-anchored rating
scale method

{c) Forced distribution method

(d) Paired comparison method
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94. Consider the following statements

about individual incentive system :

1. Individual incentive plans are
used more frequently than
organization-based plans.

2. Individual plans can
sometimes cause undesirable
competition among peers.

Which of the statements given

above is/are not correct?

fa) 1 only
fb) 2 only
fc) Both 1 and 2

(dj Neither 1 nor 2

95. How can a subsequent auditor be

removed from office before the
expiry of his term?

{a) With the prior approval of the
Company Law Board

(b) With the prior approval of the
Central Government

{c) S'imply by passing resolution in
the Board of Directors meeting

{d) With the prior approval of the
Registrar of the Companies

96. Which one of the following is an

analytical method of job evaluation?
faj Classification method

(b) Point-rating method

{c) Projection method

(d) Ranking method
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97. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-1
{Contributor)

A. Mary Parker
Follett

B. Henri Fayol 2.

C. Elton Mayo 3.

D. F. W. Taylor

Code :

(a) A B
3 1

(b) A B
2 4

¢ A B
2 1

(d A B
3 4

[—y

R

List-II
{(Management

Thought/Theory)

Human relations

Integration theory

Scientific manage-
ment

14 principles of
management
C D
4 2
C D
1 3
C D
4 3
C D
1 2

98. Identify the correct sequence of the
following with regard to delegation

of authority :

1. Creation of obligation

2. Authorization of actions

3. Determination of

results

expected

4. Assignment of duties

P-DTQ-J-DPN/SA

Select the correct answer using the
code given below

Code :

(a)

)

{c}
(d)

3-2-4-1
1-2-4-3
1-4--2-3
3-4-2-1

99, Consider the following statements
with regard to ‘management by
objectives’ :

1.

Overall objectives are set at
the top of the organizational
hierarchy.

Individual objectives coincide
with the ¢bjectives of the
organization.

Performances of employees are
evaluated periodically.

Which of the statements given

above is/are correct?

(a)
(b)
(c)
(d}

&

1, 2 and 3

2 and 3 only
1 and 3 only
1 only

100. A private company having been
altered into a public company must
file a prospectus or statement in
lieu of prospectus to the Registrar
within a period of

(a)
(b}
(c)
(d)

30 days
21 days
15 days
7 days
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101. Which one of the following is
signified by the Moosa Goolam Ariff
v. Ebrahim Goolam Ariff case?

{a) The certificate of incorporation
is a conclusive proof of validity

{b} The certificate of incorporation
is for the commencement of the
business

fc} The certificate of incorporation
places limit on the working of
the Directors

{d} Company can be revived after
dissolution

102. Information Memorandum, as per
Section 60 (B) of the Companies
Act, 1956 is related to

{a) the Director’s responsibility
statement

(b} corporate governance

(¢} initial public offering

{d} accounting standard relating
to finance and investment
companies
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103. Statutory Report

fa)

(b)

fc)

(d)

shall be prepared by Board of
Directors and  forwarded
21 days before the statutory
meeting

shall be prepared by the
Secretary and forwarded
21 days before the statutory
meeting

can be prepared by anyone
and there is no time period
prescribed

shall be prepared by the
auditor and forwarded 30 days
before the statutory meeting

104. Which one of the following is the
penalty imposed under the
Companies Act for contravening the
provisions relating to acquisition
and transfer of shares?

(a)

(b)

(c)

(d)

Imprisonment for a term
extending to three years or
with fine which may extend to
rupees fifty thousand or both

Imprisonment for a term
extending to six years or with
fine which may extend to
rupees ten thousand or both

Imprisonment for a term
extending to one year or with
fine which may extend to
rupees five thousand or both

Imprisonment for a term
extending to five years or with
fine which may extend to
rupees twenty-five thousand or
both




101, T eTR 3NRE F9r ey [em s
e & frafafad § 8 #9-m o g
g 87

(@) B &1yt due = Sarre
T &

(b) TR = wATr-gy SR YRe w0
& form 2

(c) T w1 - E=eEt % FE
it "t Pl s@ 2 '

(d) fawe & v vl &1 @ vl
fomm s v 2

102. fifag & @ g & & @ Wt
affam, 1956 A o 60(B) % TER
g Fau-ufiam greafm 87

(@) ﬁmmmﬁaﬁaﬁ
(b} Trm arfirwres
(c) RO gEsfs waE-g

(@) T ot e smfigt & aafam
TETHT 9
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103, Fifafuw wfede

{a)

(v)

(c)

(d)

R aves g R & S ofi
qifatus 9o ¥ 21 R ftm
$ s

g g R SR el
wifafts 2% @ 21 A o aiftm
£ st

et % g fam B w1 w2 ol
s Fulfa ang-arafy . &

JarliyE 0 An H SR it
wifafes @25 4 30 R ¢ @fq
F st

104. 90 & Aftmgwr ik wwriaon ¥ Ivedt &
Ig F R, s sfufam % awata,
FrafaRaa # @ f¥-w & gve SRRRE
e 87

{a)

{b)

{c)

(dj

dF o o A o & fow swam
sy gt st af¥t 50,000 %o
% & g @ T

o ad 7% f oy F R wroam
a1 gAtn Rt il 10,000 %o
& B aeRdl & =0 9

T Y aF Hi SN F i sme™
71 gt formeh of¥ 5,000 so @
B Tt & =1 2

qr9 af s &t araf ¥ fiu srREm

o1 swAr Rt o 25,000 %o
qF B Gd! ® a1 A1

[P.T.O.




105. Which among the following can issue Code :
shelf prospectus? '

(a} A B C D
{a) Any company 4 9 3 1
fb) Only public limited company
(b) A B C D
{c) Any public financial institution 4 3 2 1
(d) Only private companies (C] A B C D
1 3 2 4
106. Statutory meeting has to be called
S . {di A B C D
{a] within six months but not i o 3 4

earlier than one month of

certificate of incorporation

108. Which one of the following
exceptions for doctrine of indoor
management was provided from
Ruben v, Great Fingall
Consolidated case?

(b) within six months but not
earlier than one month of
certificate of commencement of
business

f¢) any time within six months
of the certificate of commence- (@)
ment of business '

Knowledge of irregularity

{b} Forgery
(d) any time within three months o ) ]
of an annual general meeting {c} Suspicion of irregularity
107. Match List-I with List-Il and select (d) An act outside apparent
authority

the correct answer using the code
given below the Lists :

1

. Th i i
List=I List_II 109 e doctrine of indoor management

seeks to
A. Doctrine 1. Kotla Venkata-
of indoor swami u. (a) protect outsider against the
management Rammurthy " company
B. Untrue 2. Ashbury Railway
statement in Carriage and Iron (b} protect company against the
prospectus v. Riche outsider
C. Doctrine of 3. Green Wood v. . .
ultra vires Leather Shod ' fc) determine the relations
Wheel Co. bt?tween company and
D. Doctrine of 4. Royal British Directors
constructive Bank v. Turquand (d) determine the relationship

notice between Directors and auditor
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105. f=fafas 4 @ =9 Rurl Rewo-afis
Frifia a g 27

(@) “i§ +Ht Fooht

(b) Fae widwe ffies
(c) 3 ardsifren foefta e
() Faer Fsft wwafat

106. Tifafis 33% gemd S At 2
fa) & T & Wi <wifk fomm &
THI -9 % T WE € Od e
(b) ©: AR F W@ afFT =;UR yre
FA F TU-91 F TH AE Q9
EE]

fc) UL W = &F T-9 F ©:
e & ofier fomht oft o

(d) s 3y @ & I Wg ¥ ofi
et oft wam

107. -1 =1 -1 ¥ yfm A =ik

gt & 1 e ge = v W wd
mgﬁq:
-1 -1
A NG TTFY R/ 1, HEan deheeaml
Rrgma A TS
B. faam-uiew § 2. Uyl T i
e fomo WE AGE F7
f=h
C. sftrprdid (ultra 3. M g8 F7m A=
vires) & Rrgra MG fenat|
D. wafimgEn s 4. Uaa ffew &=
g T T
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E T

@ A B C D
4 2 3 1

) A B C D
4 3 2 1

) A B C D
1 3 2 4

d A B C D
1 2 3 4

108. & 9 ¢ fhmer oifda ar | sl
wru % faga & o e § @
H-F1 G U] foam wan?

(@) AT & FH

(b) STEETA

(¢} wFafiaa S g

(d) A AR &% et HE FH

109. i Y99 & fag

(@) ) % TR =l =f it guan
& TA FHal &

(b) =l = & foeg Frt A g
I WTH T B

(¢} =t 3R Fdwl & mog el &
Frutor =1 v w2

(d) fRws i Suniys F T
Tyt & fufo s we




110. Under Section 292 A of the

Companies Act, 1956, in which
among the following types of
companies is constitution of an
audit committee compulsory?

Every public company having a
paid-up capital of not less than

(e} rupees one crore
(b) rupees two crores
{c} Tupees five crores

{d) rupees ten crores

111, In which cne of the following ways

can the Secretary of a company be
removed from his office?

fa) By a resolution passed in the
meeting of the Board of
Directors

() By an order of the Registrar of
the Companies

fc) By a resolution passed in
annual general meeting

{d) By a special order of the SEBI

112. In which one of the following theories
is it assumed that the psychological
forces shaping peoples’ behaviour
are largely unconscious, and that a
person cannot understand his or
her own motivations?

fa) Maslow’s theory
fb) Herzberg’s theory
{¢) Freud’s theory

{d) McGregor’s theory of X and Y
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113. Consider the following statements :

Matrix organization is

1. most suitable when a project
of a temporal nature is to be
executed

t

mostly seen in R&D and
engineering organizations

Which of the statements given
above isfare correct?

fa} 1 only

{b) 2 only

fc} Both 1 and 2
fd) Neither 1 nor 2

114, Who among the following has

advanced ‘Transactional Analysis’
as an explanation of interpersonal
communication strategy?

{a} Thomas A. Harris
(b) Eric Frank
{c) Muriel James

(d} Eric Berne

115. Under Section 233 A of the

Companies Act, 1956, in which one
of the following conditions special
audits of a company’s accounts
may be ordered?

fa) The financial position of the
company is such as to
endanger its solvency

(b) The company is violating its
articles of association

{c) The memorandum of
association is under dispute

The company  has not
appended its memorandum of
explanation with the Balance
Sheet




110. &w aTiyfem, 1956 f urm 2924 F 113, Fafliaa wuEt w = it -
Jgun, Feafafen & @ @ = f

Forft  Smmhen wRRT W T H Aftea dew
_ yid Y afaemr FreaRa H s 2

Yl WS Ht Rveeht ghar gsft 5 o w2
(@) T T T Y w0 AE 2 e A arfrr R ¥ R
(b) A UG T FH B I H | B-T/A w e R/

t2 g T @ %9 7 2 (@) ¥4 1
c) U™ %
“ (b) FaA 2
@ T S ¢/ 1323t

_ (df I@13mad2
111. T HAd & @fg ® @ 5 @
fefafea 4 @ fw & TER @ T W

e &7 114, srdafes Towo gin 6 e % &9 §

‘Foraen Rreaw’ w frefefe R

(a) Tiavms musa & qwr # gwew aif@
FTh

(b) FTH G & W T
(c) s 3 w1 § Wepew wTid Wk
(d} @i (SEBI) % fafiw amw g

112. Pafafae @ o fre o R 3 98 7m0
T 2 % At ¥ Jaerd ) R |
RS o Aty ¥ o¥a B 3§
au =fE 39 =E ¥ AR i any
el whar?

() P& %= Rrgra
(b) e & frgra
(c) was = fargra
{d) PR F X A Y ¥ R
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e wega fpan?
(a) 9FFE To Btw
(b) = &
fc) Hhora S
(d) s

115. ¥ Mfufgm, 1956 f a7 233A %

arger, fafafas & @ e ws am &
FA % SRl i fouy oraretan &=
e f3ar <1 g 7

(a) FEh H ey ofy o 2 fred
U NG &R 1 TWAq §

(b} w3 T ¥ -eraffoat e
g W@ R
(c) & Yo fEe g

(@) FrE A qEA-TT % q1Y T &
o "o 8 T @

[P.T. O.



Directions :

The following five (5) items consist of two
statements, one labelled as ‘Assertion (A)’
and the other as Reason (R). You are to
examine these two statements -carefully
and select the answers to these items using
the code given below.

Code :
{a) Both A and R are individually

true and R is the correct
explanation of A

Both A and R are individually
true but R is not the correct
explanation of A

{c) A is true but R is false

{d} A is false but R is true

116. Assertion (A) :

Sinking fund is a charge against
Profit and Loss Account.

Reason (R) :

Sinking fund is created for
repayment of a liability.

117. Assertion (A) :

When a company earns any profit
prior to incorporation, it is called
capital profit.

Reason (R) :

Capital profit cannot be used for
distribution as dividend to the
shareholders.
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118. Assertion (A) :

Audit means checking of the
arithmetical accuracy of books of
accounts and statements by
mechanical ticking of figures.

Reason (R) :

Mere knowledge of Accountancy is
not sufficient for auditing.

119. Assertion (A) :

The name of a company may be
changed by ordinary resclution
also.

Reason (R) :

The change of name shall be
complete and effective only on
the issue of fresh certificate of
incorporation.

120. Assertion (A) :

The powers of the Board of
Directors are coextensive with
those of the company.

Reason (R} :

The Board of Directors of a
company is entitled to do all such
acts and things as the company is
authorized to do.




Féw - e

Frefafes uia (5) wint 4 Q o= &, w W
FUT (A) TN gW W IR (R) w0 ¥
3t a1 WEuEigES e T T ¥
I = T g e & e & g

e

fa) AR R &l &, s R, A &0
d WEE

(b) A ¥R T@ €, WY R, A T
e st Tt 2

(c) AW R, Rg R Teid B

(d) ATd R, Wg R & &

. 116. FU9 (A) :

gy Ay o T o o= % fasg
IR B

T (R} :

Al R &1 gom fret 2 @) el
% oty fen <man 2

117. 97 (A} :

o @ FE e @ o e e
aila wedt 8, o T ¢ o wgema
21

S (R)

qsft @ 1 Sremrur! # anaw fraon F
o, 3w et R s e
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118. H (A) :

oamliE w5 e B, Smr g A
fomott 1 twiordta SpeEn A, st Y
it =7} fafd (Rs) #@ @
ST

%I (R) :

daian & e dwwme @1 g =
watw T 2

119, % (A) :

T S T M GEHA Ghed g ot
ufEfda fran s g 21

%R (R) :

frm F e g9 % fefon w @ T
1 gitad ol @ wret g

120. %9 (A) :

e Avge 6t wits, st £ wliegt
% T - R

FA (R) :
woEft % FRws nvee 3 ww w9 &

TR 8, 51 Feoeht = & fore arfirge
2l

[P.T. O.
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Note : English version of the instructions is printed on the front cover of this Booklet.




